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1342

Output Example 1
1

Input Example 2
5
10 20 30 40 50

Output Example 2
0

Input Example 3
5
1 2 100 3 4

Output Example 3
2
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Q7: Peak

(20 points)

Description

Given an array aq, dy, ..., a, of length n. (i, j, k) is called a peak if i < j < k, a; > a;,and a; >
ay. Please count the number of peak (i, j, k)such that a; + a; + a; is an even number.

Input Format
The input consists of two lines. The first line contains a single integer n, and the second line
contains the array a4, a,, ..., a,, with the numbers separated with a single space.

Output Format

Output an integer, which is the number of peaks that satisfy the requirement.

Data Range
e 1 < n < 200000
e 1 <a <10°
o ifi #j,thena; # q;

Input Example 1
4
1 342

Output Example 1
1

Input Example 2
5
10 20 30 40 50

Output Example 2
0

Input Example 3
5
1 2 100 3 4

Output Example 3
2

Example Explanation:
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For example 1, there are 3 peaks — (1, 2,4), (1, 3,4), (2, 3,4) (the numbers here are the indices,
not the element of the array), and the only peak that has an even sum is (1, 2, 4), which
corresponds to the numbers 1,3,2,as 1 + 3 4+ 2 is an even number.

For example 2, there are no peaks in the array.

For example 3, all peaks involves the middle element, 100, and we have to choose an element
on the left and an element on the right that sums to an even number. There are two possible
ways.



